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Onion Root Tip “Lab” Worksheet (Science 9 Pathways)

1. Fill out the following comparison table for each of the stages of the cell cycle. Point
form is okay.

Nucleus DNA appearance Summarize what is
happening.
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2. Label the stages that you see here (interphase, prophase, metaphase, anaphase,
telophase).
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3. How does interphase differ from the other phases? (What happens during it? How
does it look? What’s going on with the cell structures like DNA and the nucleus?)
~\>N{>\ ag\gr; as o\w MO0y I Jr\«i« andems 5 (\c‘\' as condente d

() c\/\r‘o 3o
35 Mo forgent stegu ol s el C%&C\\ Lo -
ST R wheos ‘\\A{, e\ fozfQO(i"‘& S i A e

4. Look closely at the cells you labelled “interphase” in #3.
a) What is odd about their appearance?
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b) What are some signs that this is indeed interphase and not a different phase?

—-C‘n(o:«w&amm ace noA’ cordansed, e auder ane
S‘\’\\\ A‘—*%\’;:\U{’,



5. What observation(s) can you make from this slide that suggest mitosis is a
continuous, ongoing process? Explain.
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6. Label the phases indicated by the arrows.
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7. Does one stage of the cell cycle occur more frequently than others? Identify the
stage and explain why it is the most common. (Use the image from #6 to help you.
“It is the longest stage of the cell cycle” is not a good explanation.)
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8. This is the onion root tip. Which part(s) of the
tip are undergoing the most rapid growth? Circle _
it and explain what observation(s) led you to
this conclusion.
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